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(A) 1
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"&__;C" [(1 —COS Qx )'*‘2,0082

—4sin x.cos x

(B)
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(x* —2x+4) + (2x —2)
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(log x2 +loga® |=

8. dX
1 1 (B) 24._2_
—_— e ——
(A) 2 a2 x a
2
© = D) ° 5
9. Ei-d;c_ [Q_tan_l x)=
-3
| 1
(A) e (B) 5
T , L+ 4x”
'. 2 /(%
C )
= - 1+4x? _ lr_-_i-x'z-
a2
10. dx[,e ]
2
x> : : 2.1:-:
(C) 2xe (D) 2xe
13 j‘ - dx.
_ x2 +4
1 -1 Xx . )Bi/f 1 Xk
(A) -Ztan Z"'k 5 R 5
' 1 - -4 2 D 2tan ' X+
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08

J‘ CcCOos2x %
COS X +Ssin x h

(A)

sin x-cos x+ k

(B) -sinx-cosx+Kk
_})411:;+cosx+k (D) -—-sinx+cosx+k
13, -ad;{ cos(nx+sinm }=
(A) —sin(nx+sinn) (B) —nsin(nx)
(C) -—sinnx (D) sin x
14. jta;n (tan! x) dx=
4 | . b
2
(B) Tk (B) %+k
Q) x+ k ID} E logsec(tzm._lx) +k
X _
(15. [E£-
a) =Lk (B) e*+k
e
(C) —x.5+k D) -e™+k
e~ X . x2 .
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2 .
16. Itog x< dx=

1
(A)  —5+k - By 24k
X7 : X
(€ xlogx-x+k (D) 2(xlogx-x)+k

17. I[Sin 3x +4sin3 x)dx=

(A 3sinx+k (-(B.)/'—Scosx+k

() . cos3x

o ;
5 12sin

2 x+k (D) %ﬁ+4cossx+k

1

18. Isin7 X Ccos
-1

Agp;)/o A B) 1

(C) 20 (D) 6

13.7Cdx=

. L P
19 I4tan X dx =

0 _1+.1c2
: 2
,/ék)/% - ®) 5
T T
< = D) g
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20 I':':_\}dxz
) .
(A) 3 ‘ . (B) f%
C—1 . (D) cl}
21. xdx -
0 2Va? - x2
5 .
L
© 2 - D a
T dx
22, ————
7"
a) - 2Jx 2Ja
© Jx ; - O Ja
R y
"2 Jcosx |
23. I = : dx=
: Jsin x +Jcos x
(A) = /Léq/ x/2
/(9)"/11/4 : uj} 27
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B n/2

I logtan x dx=

24.
0
(A) =/4 , . (B) =r/2

=) 0 | (D) =

25. I e™ dx=

0
A) e B 1-e
C) e-1 | (D) O
n/2 s
26. Isinx.cosx dx
A
: 1
(A) 1 | | (B) )
© -1 | o 3
o« i'(x+2x+3x2+4x3) dx =
n 5
(A) 10 B 3
1
o I o 1
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28. .
!lsmx.cosaxdx=
A) o
B) 1
(< |
/\/0 o L
1
29. IODnggd _
! -
(A) 100 -
. (B 1
)9)/ s 100
. | |
(D) 101
30 2?_@9;.___
& ) 1\[;
2 R .
_/w/ . e o
© 2 /Lé(/
31. f[—Gx _

xlogx =

(A) 1 =
) og x+k ®  (og Poar

Mg (1og x)+ k : (D) 1
- logx +k
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u (121,
x-3

dx=
32. Ix?-__g
(A) log (x-3)+k Mx +3)+k
1 ' 2 i
Q = +k D) X --3x+k |
= (x+3)2 D) F=3x '

33. AR n(A)=4 T n(B)=2, @ n(AxB)=
A 6 . - (B) 8
16 | (D) FHE HIR TR
{f n(A)=4 and n(B)=2, then n(AxB]>
(A) 6 _ | (B) 8
(C) 16 (D)  none of these
@ afe @i iaﬁmqﬁﬂﬁﬁéﬁﬁ (aob)=a®+b%, @4 0(102)=

A)  729. (B) 793
(C) 783 (D) 792

If operation '0' is defined as (aob) =a3+b3, then 4 0(lo02)=

(A) 729 (B) 793
(C) 783 (D) 792
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(€ flAyo B ' D) f(A)=B
=
A i
¥ B will bc_an onto function, if

@ flayes: - B) f(a)=B

€ ra)ss - D) f(A)=B
=

(A)  Z(x+4a
X(x+4) B) lx-4
(C) 3x-4 (D) afornig
If F:RSPR such that
f(x)=3x-4 i
’ then which of the fullowmg is
Jx) e
3(x+4) (B) é—x-—‘t
©) 3x-4 (B)  Undefined
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37.

(1217327 |
af @A o T R P @ RF (aob)=a’+b’-ab, @

(102)03=

(A) 18 (B) 27

e 9 (D) 12

If operation '0' is defined as (aob) =a? + b? ~ab,then(102)03=

(A) 18 (B) 27
€ 9 (D) 12
38. A A=(1,2,3,...,n), N Fed W STl B f:A> A Tonfa
B HHd 8 ?
A) n B) |n
© 3l | 0) |(rn-1)
Let A={1,2,3,...,n} . Hm;v.lr many bijective functions f:A-» A can be
defined ? |
(A) n B) |Ln
() %Lﬂ (D) [(n-1)
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(A) 1
B) 3
€ o O
o0
cos™! X+ secll_
- X
A) I - : &
2 - B) . cos7H(2x2 -y

(D) cos™! 2x |

A 3 :
( ]_ = ® 5n
- 14
c 2= |
© 14 ' (D) 3n
| < 14
42. cos!|cos -§11)._
-9
8n '
S S B 2x
ol
T
(C) s (D) %E
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44,

45.

n T
) (B) 3
2n
C F o 4
€ 3 (D 5

(A) 0 <,iB)f'/-"% = |

€ = (D) %
sin ( sin™! %"‘]-’r tan™}( tan 3:)
- 17= - B
AR 12 | B) 3™
01 _ "
© B -13
-1 1 -1 l-_-
tan 5 +tan 3

E
3
i

(D)

w|a

T
< 5
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47 . sin{sin"l-é—+cos_1x}

@ 1
4
© 3

21 11 10
25 15 10
64 27 37

48.

(A).. 1190

1,

= X =
B) o0
: 1
(D) =
(B).o"841
D) 1
(B) 2
(D) -102
(B) -15
(D) 60

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-12th-question-paper-2025/
https://biharboardquestionpaper.com/bihar-board-12th-question-paper-2025/

3 3 /3 V3
s, |49 917
> 1o 0 O
@0 (B) 12
3 |
c 43 (D) 3-443
12|
52. .5|3 4|~
S 4
() ‘155 20| B) |3 20|

IR L
s [3 333
& & 38 _ o {ds o]

(C) :;,?4 3.131 s [39 25]
54 A.—.[l 2 3] =2A'= .
(A) [1 2 3] (B) 1|
© [321] o]
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B)

(D)  logs+lLl
x

0 1 2
a e} 2
1 @
?Tt A= 1 O 100
0 1A =
(A) 100 -
a (B) 101 4
C
€l a (D) o99p
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©) 19 '45] .

& 1o -21[ ]z

@) [ 2]

© [1]

62. (4] [2 -2]=

.y[a/—sj
o [-8]

(B)

(D)

(B)

[ 121

W
o N
it

0 4]0
—
()88
il

[25a712/105

Pa;

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-12th-question-paper-2025/
https://biharboardquestionpaper.com/bihar-board-12th-question-paper-2025/

64.

A
9 By L1
x (B) o

9
©) x by i
X

(A) 19,17, 15 },/13, LB

€ 19,17,9 D) W |+ 7
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The direction ratios of the straight line

x=-19 _y-=17 z_15

3~ 11 g are
A) 19,17,15 B 13,11,9
€ 19,17, 9 (D) None of these
66. @l x1;1_919}2_z+13 ﬁw%faaﬁmﬁgaw% >
L :
@) 11,12,13 (B) 11,12, - 13
(C) , 13, 14 | D) -11,-12,13

-~

Through which of the following points; does the line

x—ll_y—12 z+13-

12 .13 14 pass ?
(A) 11,12,13 (B) 11,12,-13
(C) 12,13,14 . D) .-11,-12,13

67. ﬁﬁmmaﬁ%ﬁ'ﬁﬁml 7,93’31?_6.,21,::_'33’;;:3;]%%

) 9 B) 18

© 27 m
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‘ - 7,9
If the direction ratios of two parallel lines are 2,15

then the valuc of xis

A& o . (B) 18
© 27 L
68. af Q) g Yanait F fog FU a, b, c T x, y, z W N az =
@A) ey B) e
© bz (D) " ax
If the clilrectiun ratios of %5 parallel lines are a, b, cand x, y, z
then az = |
A) ey (B) . cx
C) bz D) ax .
69. 'aﬁamm%@aﬁ%ﬁ%wﬁS.ﬁ.4w 4, 8, x §, ﬁ-xﬁl
M 2 |
@ o ® -
© 8 =8
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' i lines are
n if the direction ratios of two mutually perpendicular

5 2,4and 4, 8, x then the valuc x is

(B) -9

[

c 8 (D) -8

n 9

-0, @ 9x-8y+7z=10 % G O a0 G
(A) 9x-8y-7z=5 (B) 9x-8y+7z=5
(C) 9x+8y+7z=5 (D) 9x-y+7z=5
Equation of a pianﬁ: pla::*allcl to the plane 9x-8y+ 7z=10 is
(). 9x-8y-T7z=5 B)  9x-8y+7z=5

(C) 9_x+8y+72=5 . (D] . 9x-y+7z=5

(A) 11 /B)/Jﬁ

J7 D) V10

% 7 B) 19
@ 5 (D) 49
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= - - - o5 -5
73‘ L) - . -

C) 23 (D) 22
O % g e e B £ -
(A) s -(B) 4
_Jey=3 D)y 2
75.. (11?+?+?§1.(‘?+_}+1175)_=
Ay .22 ABY—23 .
(C) 24 (D) 20
76-I (__f_‘;’fd}}-?f
Ay (B) 1F-

i _ —>
5/(;:4/-1 | D) 2i
S - —> N — -
77, (i—-2j+45k).(-2i+4 j+2k)=

(A). 20 (B) 18

_er o g
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\
A) 2 /151/1'

—>

)/(9} D) -k

79. ﬁﬁ%ﬁgﬁﬁﬁﬂ?ﬁﬂw%?

(A x210 B) y=20

_ (€ =7x+3y (D) gz A EA
o
Which of the following is objecitivc function ? |
@) x210 - ® y20
[é} z;7x +3y (D) All of these
80, gl x+y<35, x20,y2 0 F AW Z=2x+y F arfrsan T 3

A) 35 - (B) 105

M (D) 140

The maximum value of Z=2x+Y subject to constraints
&

x+y535, x20,y= 0 is

(8) 105

(A) 35
o e (D) 140
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- [ 121/327
9y ' he ]
Qx*gsaéx:»o, y2 0 % aimlq Z=3x-y @ Al R
4 )
(A) ~a$rm\ X
4 4 O
, B 27
© 16
D) 8
Themammu
) m value of Z=3x~y subject to constraints
TYss, x20, y> 0ig |
(A) -8
(B) 24
© 16
D) 8§
82. amaa; | |
% 3§ Sy
wﬁﬁﬁﬁ%%
& 2 '
1
Aﬁi"’%
© 3
6 (D) 55-
6

&) 2 :
By 1
3 ® 1
© 3 S5
6 (D) A
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g vt 1 A Y R

(A) P(AUB)=P(A)+P(B)

(B) P(AUBI=P(A)+P(B)+p(An3)
© 'P(AUBI)=PI(A1+P(.B)-_P(AnB)
(D) P(AUB]=P(A):P(:91

Aadition thearei of probability is

) P(AUB)=P(A)+P(B)

®) .ﬂAUBkﬂ%AﬁPHﬂ«HﬁﬂB}
©) P(AUB)=P(A)+P(B)-P(ANB)
(D) - P(_AUBj=P(A}.P(B} |

84. qﬁmgaﬂaqﬁ'ﬂmﬁ a:bd,dl P{E;='

' a

w =% B Z+p
: b

{C] aib (Dl a-b

l 25A/12/105 | | Page 27 / 40
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8S.

If odds in favour of event Ebe a: b, then P(E)=

a a
(A 2 Bl T+
b b
© a+b (D} a-b
WS %1 om Py 2

/LA‘)/PMHB]=P(A}.P(B]

B) . P(AQB]:P{A]-!—P(B]—P(AUB}

(C) P(AﬂBl=P(A}.P(BfA]

D) w0t A NS 7

Nl"l.ﬂtiplicatipn theorem of probability is

(A) P(Aﬂé)=P(A).P(B]

(B) P(AI']B)=P(A)+P(B]—-P(AUB]
(C)  P(ANB)=P(A).P(B/A)

(D)  None of these

25A/12/105
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4 ( 30 [ 121
—&X
86- a‘;(e )= -
3-2

(a) e (B) 0e3-2x

(C) -'" 283_2"7( (D] _ e3—2x
87. [2**ldx =

w2 i

log2 (B) 2**llog2+k

[C] [x+1]2’x+k (D) 2x+1+k

8g. [—x+1)2 .
IxJ;+2x+J;dx_

(A) J;+k (B) ‘%J;-i-k

%2&"‘-;(: (D) 2x+k

1

89.  [sin!® xcos!'? xdx=

_ar o

(B) 1

1 x
< 3 D) 2

@12/ 105

BiharboardQuestionpaper.com



https://biharboardquestionpaper.com/bihar-board-12th-question-paper-2025/
https://biharboardquestionpaper.com/bihar-board-12th-question-paper-2025/

B a
O1.  [é(x)dx+[é(x)dx=
« B

(A) 2 _ B) 1
B
) o @) 2[é(x)dx
d
2 =3 X}s
(a)  x®-2x ®  2x-2
(C) 2x+2 D x-2

) e

O a

1 _ oy 1
< Z*
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94. %{loga x xlog, 3} =

(A) -é- (B) 9

(C) 2log 3. : (D) O

d ' "100 _
95. dx(lﬂg;c ) =

'l.

X |—

A s e

X

100

}’/,"x_ | @) 150x

96. —‘L[sin'l{éxJ1-x2 1]=
dx
. i -
A 2sin X (B) .
(A) | .
2 ‘ 1
C (D) —_—
€. 1—x? J1-4x2(1-x2)
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i' & ! o dy =
2
"3 - x -
(A 2Lk B 4k
\-'?" 3
C) =k (D) 3x+k
s | & 5
g a l L] ] =
{ ‘f-‘; B s EB'I 4
flgr €& a1v site e siftsfaus
= FaAYe Gue, Alse quz, 3iae-Hl,
(C) — 0 (D) -4 TS, sited, Al ST, de- 319 3ite
aewmes udten usa o7 3nfe & fAe...

QA r_ m W s ( BihurboordQuestionpuper com p
&=

K R Nk m+n
X .
(A) 2 + Kk B) Z——+k
m«=n=2 m+n

J:,n- - F = l

(C] b m+n-1
(C}) e +} (D) (m+n)x +k

f,,-—/;.':i-t X
(A) e’ +k AB) 3 +k
_._..-.'.'.
©) e Pk (D) 3e* 74k
Page
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